Jan Trig Reps

Use the three representations to prove each property.
Make a note whether is was easy, difficult or impossible to prove.
There is room at the bottom if you think of any other trig properties to check.
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Series

cos(z)® + sin(z)® =1

cos(0) =1, sin(0) =0

sinf{a + b) = sin{a) cos(b) — cos(a) sin(b)

cos(2z) = 2co8%(z) — 1

cos{r +w) = —cos(x), sin(xz + )= — sin(x)
+ (sin(z)) = cos(z), <= (cos(z)) = — sin(z)

ms(%) =10, sm(%) =1

[cos(z)| < 1, [sin(z)[ <1

sin(x) = x and cos(x) =1 — % when || small.
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